11.3) Using trigonometric identities



Worked example Your turn

Find: Find:
fsin2 x dx cos? x dx

1 1

§x+Zsin2x+c




Worked example Your turn

Find: Find:
j cot? x dx f tan? x dx

tanx —x +c¢




Worked example Your turn

Find: Find:
j(secx —tanx)? dx j(secx + tan x)? dx

2tanx —2secx —x +c




Worked example Your turn

Find: Find:
jsin 5x cos5x dx fsin 3x cos3x dx

1

—Ecos6x+c

f_x xd
sm4cos4 X




Worked example Your turn

Find: Find:
j(sinx — cos x)%dx j(sinx + cos x)?dx

1
x—zc032x+c




Worked example Your turn

Find: Find:
f(cos 2x + 1)%dx f(cos 2x — 1)%dx
1 3

—sindx +—-—x —sin2x + ¢
8 2




Worked example Your turn

Find: Find:

(1 + sin x)? ; (1 + cos x)? ;
X X
cos? x sin? x

—2cotx —x —2cosecx+c




Worked example Your turn

Find: Find:
COS 2X COS 2X
— dx f > dx
sin“ x COS“ X

2x —tanx + c




Worked example Your turn

Show that: Show that:
VIA
s, M 2-V3 %_Zd_n 1 -2
f%cosx x—24+ 3 jlzsmx x—48+ 3

Tr

12




Worked example Your turn
Find: Find:
T 7T
3 2 3 .5
cos“ 3x dx sin“ 3x dx
T VIA
6 6
T




Worked example Your turn

Find: Find:
fsin‘*x dx fcos‘*x dx

1 1 3

ism4x+zsm2x+§x+c




